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TR e T TRE T 1950 % TTaTd. 3ifues T & I g | urior e o wd o |
TERd % H1 T TIE SHEe 4 R | ot a3 Iu=IEl o wierw ¥ geaid uTHior Sfa|
o1 wHERE foaor fRaT 2 | IHeE % U8 HIA H H3 SihAA % TS HeAT-1883,THd Wi -
1899, ‘JuREel Fer'-1907, “HIgd I FfP-1912, TR N IRIH -1915, TS gt gRI
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g & TN, e, SHEw e sy § wier Shew, difsa amfiei # 3w areft =9 &
I B & | T SUSITE] § S AmIeh, ST SHae 3R TOnTd UTH SIEwl % HehHUl e
HeH T T H IWH I I § | SRRt JHIG o faaet! § 7@ Sfieq i et i SR s9m
fopam 2 | 3 9g IR WeE, IAATe AR, T Ted, dag gennedf e gHt s W =erd @,
e Ir=feTehar <ht He feafd <l 3R |

&t oifeca o rfafoeTehar & AT IURITEHR HUATEETY W) @ & | 39 gi foran m ggen
Jafersh 3u=mE el SAfeer-1954, &l #1 ygu sifafels SU=E AET WA ® | 3He WIg
SfafeTeRar 3TfYeh AT § T T3 | STiafcie diiged fafay &9i § THg9 81 T | 381 59 ™
Hiea R, W TeE, THe iy, T e W, femiy Seft, SRavETe W, SesTETe, e I,
ATl AR, T WA, e yere fig, faaeht wr anfe s fean o wshar @ | &9 1960 % 9w=T
UMHEfoTeh 9T 3k Sotadt s | 390 a1, aml, 39w, ey, fome, Wt snfe +i
FATId T ITH g3 |

Tope <gTa I 3T =@ 38 TR % RN T A Hifeed ol JeeH & R ?
HETeHT TiEht

7. | OTEieleh HIfEeT T IR T YT 3T T & IE B |
1950

8. | TaragsH wem g feiftaa 1925 FATfe Iu=IE § URAYh T W TTHTEIfeTehdl o €9 Bid & |
gt g

fopE TR o Y@ U= T | e, S 3fe Su=mEt 8 wrior sied, fifea amdien § 3w
et BT % eI B B 7
THeIg

10.

foper u=mErRR g for@ TR vEen sifaforeh 3uRIE Bem e - 1954, fadt 1 g Sttafers SuRmm
HHT ST & 7

ORI XU

e (7. 9. 11 | 9. 9. 15) : F=foafaa T # ggat @ T T % W G |

I f&dt Wt 58 &9 # aielt 3§93 It @ 98 @l St 1 & difaicsh W ®9 g, e
forepre qeaa: I~feel Srarsdt § g3 | Wt Siell 1 WA ®9 gEel vrdrsdt ¥ fierdn 2 foeq =iegel
IaTeE! b TRY H R GEU 1 Ugell SR @ Sieht H Hidar hi AT 6l | HEIh deb @el siett
TEId: ST i AN o &9 H & Y= off | 39 I H S SR ST} ey i A o |
ST 1 LM A, Tl I qoEieE | R BRe i faumfa 3 ffea iR doataa fem | 3|
I HRET TSGR H TSThTS shi WIS BT hid! ol | 37d: 31 RO § @l diel ufera-& @,
TAfeh T 3T WRA | SEUeh <l T ThAT T AT off |
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19 ff 3fR 20 of vl H S FE-FATH F1 TER I A @ el TES €T F TR WIWT 6 T
T A>T SETh T AT % &9 § IHT H G TS Hifeh T dadl 3Aferes saaes off |

TER § IS @ < 9 & wre f§d sien ol i G gt | ggu o HATfashR, Wi o
IS T AIfEeT & YHR, TSHITdeh IFTEshdl & 3g9d, TA-UEI3T & JehRH, SHHIURo qe
TEeH h STaTEhAl TG RV 4 G Sl § faefaa & w1 qrgt wra 6 waifas s B S
refl SHERRh i 9T o ®9 | wefud e | g5 ety § wRdg sfdg meei yare fged st
G 3G &8 T o e 9 ufitehd R H AT fean | S el S §Eiia % % fog
et foereh, gaTe TEadl 3nfe Tefas 3t arfifes Janatt 3 & w1 s foean |

T 1949 3. ¥ Gigu™ § <@ I U9 % &Y H Wehd & b UvEId $6H 9 Tk USR aAT
FRISET T e L foram 8 | oo o SAfeehar U=l | Sme 3R fren Y o & 2 | e,
T 3R TERSe 3 34 fgdia awr &% ' d wear & 7 |

11.

d: Wl St o foehr fope STl | g3 ?
EEILE]]

12.

fore wfer 3 Siegdl vraTed o IRY T W Siclt § hiodr Bl T S 7
IR G

13.

SISTHTST bl FRE it A, 31l 1 gereiie st = 37K fforeht i fore fifera 3R deafaa T 7
feremmafa

14.

TER T ST 9 YT o STe f&<) Sie aTell <hl e qaifees g |
<=

15.

el 3. H Hiou™ | <X Rl TSI 6 &9 H Wiehd 8 oh T9aTd 36 376 Teh T T
FAU T I K forn § |
1949

16.

S enfifer o # foRa et £ 7
24

How many Tirthankaras are there in the Jain religious tradition ?
24

17.

‘Jufive’ e T Wifedes 37 w1 8 7
Torelt < ara S

What is the literal meaning of the word ‘Upanishad’ ?
To sit near someone
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18.

fay a1dt vrar Y T A aTell dgh” % w9 7 wfg vfaw e e woErst e oft 2
LIFEICE]

The famous statue known as the “Dancing Girl” of the Indus Valley Civilization was discovered
at which site ?

Mohenjodaro

19.

g ad 1 fafiess’ a1 Aficsd’ s 1 b R R ?

o= et /aug, o dig foremd @

What does the term Tipitaka or Tripitaka refer to in Buddhism ?
Three baskets/collections, contains Buddhist teachings

20.

wgem o TR fretera & aftfa ges shet & fmior o1 9 fomm @ sifeeprd w1 fean Simar @ 2
KA

Which Mauryan official is credited with constructing the Sudarshan Lake as mentioned in the
Girnar Rock Inscription of Rudradaman ?

Pushyagupta

21.

TR | Jifem ffew amem = ot ?
IS AISeaeA

The last British Viceroy in India was
Lord Mountbatten

22.

e § YR 819 & 9] Y w9 fodeh gry bl 8 ot ?
JEATHSH 0T S

Indian Home Rule Society in London was founded by
Shyamiji Krishna Varma

23.

LTS o 99§ i SHET ST A7 ?
. TS

Who was known as ‘Rajaji’ ?
C. Rajagopalachari

24.

fégram frafsstena wEifuem i woro form o g8 off ¢
1924

Hindusthan Republican Association was founded in the year
1924

25.

T WA o T8t Usgdtd shid & 7
The first President of the Independent India was
Dr. Rajendra Prasad
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26.

U HE U I HEY 3! faRvand &
THe 1T 3R TAT TR o S IferT hl SN

A Federal State is best characterized by
Power shared between central and local governments

27.

A bl ga8 @el 48 HH-1 & ?
|

Which is the longest river in India ?
Ganga

28.

STl GAYRUT T q&T |0 R R 7
TNl ST ST AT

What is the main source of groundwater recharge ?
Rainwater infiltration

29.

Jeefl T T Y6 T HIH-T1 WA TH @ 2 P
TR

Which desert is considered the driest place on Earth ?
Atacama

30.

Hewo fohE TR o o1 o fore wfdrg @
DGl

Sundarbans are famous for which type of forests ?
Mangrove

31.

GATT 1 aTeqd TR
A SAfHe 31 S we g

GATT stands for

General Agreement on Tariffs and Trade

32.

refi gererdfa FisT X <hfed oft |
AT =A™ 3T THEAT o |12 foremma

Ninth Five Year Plan focused on
Growth with social justice and equality

33.

ugel! TEfa ASHT (1951-56)  THI WRA - THEAST T HAT B T&T o1 | o off

IROTITF <t TG, Wier 2t iR et 3iR gt ggrehifa

At the time of the First Five Year Plan (1951-56) India was faced with three problems.

They were

Influx of refugees, severe food shortage and mounting inflation
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34.

SIS T 9T R 7
ufa ot feredt yiftr &= o =afera <ht v w1 srguTE

What is density of population ?
A ratio of the number of persons per sq. km of land area

35.

WA H #ofgll TSR sk ! 3R 1 el Sl & 7
TUT JTHOT TSRTR ST

Wage Employment Programme in India is also known as
Sampoorna Grameen Rozgar Yojana

36.

e a9 I 6 Tt 2@ Fo ~Arer uran g fob g foe veu St shdex w@ o @ 2
3 3 atg fond safda & IR 1 Iocier L &1 2 |
T

writ is issued when the court finds that a particular office holder is not doing legal
duty and thereby is infringing on the right of an individual.
Mandamus

37.

TR o o Ffu 1 fewan T2 3, sfew aer @i g afufa & fawrfer w1976 7 429
gy srffrem gra g T Y |
TifeTes whde
were not the part of original Constitution of India instead added in 1976 by

42" Amendment Act on the recommendation of Sardar Swaran Singh Committee.
Fundamental Duties

38.

WA % Ffge 6 yead HE R
AT

Indian Constitution starts with
Preamble

39.

T h IR WRA Gfawe o % T & S 7 |
DR 12

The definition of ‘State’ is provided under of the Indian Constitution.
Article 12

40.

oG HeEl o off¥ TR |igdl AN T 2 |
TR At

enforces the code of conduct among members of Parliament.
Ethics Committee
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41. | v foga &t 9 500 3T & Jfaty W 250 diee 1 WA= S I 2 | 10 e § 5[ §
ScaTfed ST St Sl TUMET e |
1250
A potential difference of 250 volts is applied across a resistance of 500 ohms in an electric
iron. Calculate heat energy produced in joules in 10 seconds.
1250
42 | TR I 38k HeH TN | fquTRad e I @1 Hed § 7
T
The splitting of light into its component colours is called
Dispersion
43, | T3 B T SM o TIC I1gel < AR a6 ofter skt e idishan <Al fersrar 8
ATIHH | Jfg
The chemical reaction between quicklime and water to form slaked lime is characterized by
A rise in temperature
44, | Fafafgd 4 @ SH-8 G @S 30 H1 Ieoi@ [T T 2 S 0 Hilgd F9 H 980 &N Bid
g7
Which of the following are mentioned as common mineral acid that are very corrosive in their
concentrated form ?
Sulphuric acid, hydrochloric acid, nitric acid
45. | 9E AT H YN A dTel TN i AT h R w8
e
The amount of light entering the human eye is controlled by
Pupil
46. | THE 0.12 T Ifawd €9 =7 ?
12%
The percentage form of the decimal 0.12 is
12%
47. | 437 3R 487 & = qOT HEATST h T FT 7 7
49
The number of whole numbers between 437 and 487 is
49
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48. | 2 EE@N3A HT LCM 3T HCF AW 120 37 6 7 | 3 3T § Toh &e 30 2, o1 371 w91
I |
24
The LCM and HCF of 2 numbers are 120 and 6 respectively. If one of the number is 30, find
the other.
24
49. Teh I I aifer 13 Tt & 37 3T <ieTs 2%@?‘1%,314@?@3‘1%—«1?%% ?
3
32
il
The perimeter of a rectangle is 13 cm and its width is 2% cm. Its length is
3
32
2 cm
50. |afg12=1,112=121, @ 1112=7
12321
If 12=1,112=121, then 1112 =7
12321
51. | U 3TeH! 1 3R W H §Y, Tk HigeA A hal “Iqeh! A 7 A 6 eheiidt 91 87 | Hlgen 34
et @ fopa g wefa § 2
-
Pointing to a man, a lady said “His mother is the only daughter of my mother”. How is the lady
related to the man ?
Mother
52. | 7:10 1 Tt 6t GgAT < Sfi= I IO FAT BT ?
155°
What will be the angle between the hands of clock at 7:10 ?
155°
53. | T 6 Y T hl 3 T SAHT TR e hl Y Y et 7, WY AET W 991 2 | HOH T HH § 7

g

The age of Ram is twice the age of Shyam and half the age of Sohan, Shyam is elder than
Mohan. Who is the eldest ?

Sohan
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54, | f=feafea @ @ gdeon fim 3@ Hifw |
IR
Find the odd one from the following.
Grapes
55. | foa &fem & e 7, gftept 319w @ @l ], STTclieh ST9Teh ¥ oie g TR 3TN fo iy o o9 @ | 9g
T gl BT A B 7
AT
Vinay is taller than Hansika, Hansika is taller than Abhay, Aalok is taller than Ashok and
Ashok is taller than Vinay. Who is the shortest in the group ?
Abhay
56. | 2025 fdacres fa SfteHRT § Afgen Thal w1 Rade feea Sfar 2
7 feEme s
Who won the women'’s singles title at the 2025 Wimbledon Tennis Championships ?
Iga Swiatek
57. | fope Ot 318X 3 R 1 gl yHivTa A wyfafauet afs S fhar @ 7
LIS RIEIH
Which Indian city has issued India’s first Certified Green Municipal Bond ?
Ghaziabad
58. | ®3 fammesh (4 AT o7t 3HTNfed wR Afed-HaNe fefehel UUE SehiHiHeh shl-3TTIH) RRe T e
T BT HH-TT S 8 7
DIEfe
Which country is the host of 6" BIMSTEC (Bay of Bengal Initiative for Multi-Sectoral Technical
and Economic Co-operation) Summit ?
Thailand
59. | f=fafaa # @ fha safaa @ gfeht & fo fafia Soft § 2024 1 gome qwesR fien 2
U AR
Which of the following person received the Dronacharya Award 2024 in the Regular Category
for Hockey ?
Sandeep Sangwan
60. | TUsdr sferent fgem 2025 Ffalea o @ fore fafer st mamn Smar 2 2
24 S
National Girl Child Day 2025 is observed on which of the following date ?
24" January
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61.

30 - 31 ST, 2025 I “FIHT" T U THEH Hal SIS fohl T a1 7
TR, TR
Where was the National Conference on “Good Governance” held on January

30 - 31,2025 ?
Gandhinagar, Gujarat

62.

1 S, 2025 1 T TLHR F FAEHST et & 3167 ek fohg T Rt i =wor i 2
qE-2E
On January 1, 2025 which new district was announced by the Gujarat government, carved out

of Banaskantha district ?
Vav-Tharad

63.

16 eI, 2025 1 TS A S & JaY w3 gET SRHR R & 9 § fhed qeur
TR0 TeRalT ?

IR TG

Who assumed charge as the Managing Director and Chief Executive Officer of Punjab National

Bank on January 16, 2025 ?
Ashok Chandra

64.

2024 feh 5@ PRI fedid R s w1 Aqea fore faafaeme 3 e ¢
g STt feras et fargferemera

Which University led the preparation of the 2024 Global Water Monitor Report ?
The Australian National University

65.

20 fegsR, 2024 1 IR THR 1 A 3N feprs A eFan aiEemIT & Tuea 7g frm sTaida
IS & g1 500 fuferaa et o /o gHeid 9 g&dier foy ?

i foe S (ADB)

On December 20, 2024 the Government of India signed a $500 million loan agreement with
which international organization to support green and sustainable infrastructure projects ?
Asian Development Bank (ADB)

66.

WRA 1 A JATTsiet fRE (MOM) e w&ifua fepam T e 2
2013

India’s Mars Orbiter Mission (MOM) was launched in
2013

67.

FASE 919 fead el T ST | 7
29 IS

International Tiger Day is observed on
July 29
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68.

ISt fehent fope T ® fra 8 7
e

Aguada Fort is located in which State ?
Goa

69.

kTSl 1 e % Ae A Fed § 7
fin

The playing area in boxing is called
Ring

70.

Tt g AT fagees Sl R el [l 7

S rC AR EDRED

A bill proposed by a minister is called as
Government bill

71.

EICACIRUSCIEi
e

The capital of Norway is
Oslo

72.

g cferu TS Wet fohe dw O s fopam mm o 2

A

The first South Asian Games held in which country ?

Nepal

73.

Ueiferem ffae <1 o TS (OPEC) 1 TE&Ted Hhal feod 8 7

ICRE]

The Organization of Petroleum Exporting Countries (OPEC) is headquartered in

Vienna

74.

94t T foRe TR TS T hegdel! ATed ¥4 7 7

qfyem e

Putul Nach is a puppet form of which Indian State ?

West Bengal

75.

SHTRIIR Y] el weH ford T 8 fr 7

Sad

Kakrapar Atomic Power Station is located in which State ?

Gujarat
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5w (9. 9. 76 A W. . 80) : W H1 HewE HL 3R A fgw Mu yAl F W E | IR AE 2011 ¥
2016 T Ush hU-] <hl A 3T T hl eAdT 2 (S . H) |

Direction (Q. No. 76 to Q. No. 80) : Study the graph and answer the questions given below.
The bar graph shows the income and expenditure of a company from 2011 to 2016
(in crore Rs.).

A T AT 3 =
Income & Expenditure of Company
Qa0 S o o =
[=] ] (=
800 - = o = Lo
o o 9
7004 2 =
_ AT
600 2 o § § m [ncome
EDD T g "-1": ] g .
400 4 = o Expenditure
300 4
200 -
100 -
o011 2012 2013 | 2014 2015 2016

76. | Ul GRI 2013 | 2015 T et TohadT o9 (IS T H) 3Rl il 18 7
50
What is the overall profit (in crore Rs.) is earned by the company from 2013 to 2015 ?
50
77. | few gt 4§ foum anf # o g i @w (0 w9 H) w7
116.66
What is the average profit (in crore Rs.) earned by the company in odd years among the given
years ?
116.66
78. | Ul gRT 2016 H JAfSId Y, Ut gRT 2015 T AT oy @ fepaw wfosra aferss 2 ¢
100%
The profit earned by the company in 2016 is what percentage more than profit earned by the
company in 2015 ?
100%
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79. | afg 2016 I T & 2017 H HUHT T AT 25% g1 3N 3 20% €1, @l 2017 H ST &1 ==
(S & W) FT7 7
475
If the profit of the company increased by 25% and income increased by 20% in 2017 than
2016, what is the expenditure (in crore Rs.) of the company in 2017 ?
475
80. | 2011 2013 T FA 3™ 2013 H 2015 T He1 =7 A Tehe wferwrd a8 7
5
15§%
By what percent total income from 2011 to 2013 is less than total expenditure from 2013 to
2015 7?
5
15§%
ey (9. 9. 81 9 9. 9. 85) : 9 fean Mo ) w1 9w @t 2021, 2022, 2023, 2024 3R 2025 H
fafe fuem o qey 3R afgen yfawfen 6t @@ g © |
Direction (Q. No. 81 to Q. No. 85) : The bar graph given below shows the number of male and
female participants in City Marathon in five years 2021, 2022, 2023, 2024 and 2025.
T | Heuwh
Participants in Marathon
2500 o %
2 o
2000 8 3 8 -
g 9 E
1500 & 2 =
= h iy
1000 5 " Male
o Female
500
0 2021 2022 2023 2024 2025
81. | 2022, 2023, 2024 T HUYH F W o It Teu! ! 3T F&AT T 2021, 2022 3T 2023 # 90T oA
areft afgenat 1 3fed T d U F1d HI |
41 : 28
Find the ratio of average number of males participated in marathon in 2022, 2023, 2024 to
average number of female participated in 2021, 2022 and 2023.
41 : 28
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82. | fopm o arfiremam it 3 Buem oy form ¢
2023
In which year maximum people participated in marathon ?
2023

83. | 2026 H B T M W ATl et S shl TEAT T4 HIT, A 2024 X 2025 F WA o4 ot
3fied T < e | 2026 H Hat SfafieE 6 T § 25% 6 39fe 8 |
3875
Find the total number of participants in marathon in 2026, if the total participants increased by
25% in 2026 over the average of participants in 2024 and 2025.
3875

84. | UM W 9N oF ATel 3 qEY fawie it 8uem § 9 o areft siaa afgen sfawfien & s
1 FH R ?
550
What is the difference between average male participants in marathon and average female
participants in marathon ?
550

85. | 2021 H AULH ¥ 9N oiF areft ufgen ufqwmfic o ufowrd it 2023 # #UeH ¥ 9MT oF el &

T & Ufard o s #&1 3T 8 7 (SR HH 1 shifs)
7.6%

What is the difference between the percentage of female participants in marathon in 2021 and
percentage of male participants in marathon in 2023 ? (Find approx. value)

7.6%

A3V (1. 9. 86 W W. H. 90) : fr i 7 anferent s W H 6 3w P, Q, R, S, T 3R U g1 W et
o IS I AT & | aTferesT e 3 = feu 7o geai & W 2 |

IACGATHE | FEAIE A : AR
P 5225 10:9
Q 3150 9:5
R 5625 7:8
s 3825 4:13
T 4875 4:9
u 4950 11:7

e : I IHTSAT haot g T AT BTt 3 Ahe T IS o 7 |
Direction (Q. No. 86 to Q. No. 90) : The table given below shows production of Shirt
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Company by 6 units P, Q, R, S, T and U in one hour. Refer the table and answer the questions
iven below.

Production | Total Shirts | Black : White

Unit

P 5225 10:9

Q 3150 9:5

R 5625 7:8

S 3825 4:13

T 4875 4:9

u 4950 1:7

Note : These units produce shirts in only two colors i.e. Black and White.

86. | forg 3T & fHIU et 3¢ 3T Tthe 91¢ <l TwAT o i h1 31X 31ferehan 8 7
S
For which unit the difference between number of black shirts and white shirts is maximum ?
S

87. |3%TE Q, R 3 S H IcUTfed hiet Wel <hl 3T & T & 7
1850
What is the average number of black shirts produced in unit Q, R and S ?
1850

88. | RS U H Icuricd HW%he Wei shl HEA] S P § IcdTied shict 3181 shl T § fohaw fdsrd 9 & 7
30%
The number of white shirts produced in unit U is how much percent less than the number of
black shirts produced in unit P ?
30%

89. | TS S 3 T gRI IAT(ET et YT hl T 318 S 3 T g IcdTfed et hl Fet T i fehaan
ferera & 2
800/29%
The number of black shirts produced by units S and T together is what percent of total number
of shirts produced by units S and T together ?
800/29%

90. | 3ehrsal Q 31X U gRI Scatfed shiet WISt <hl H&AT T 3h1eal P 3R Q g SciTfed Thg 1St <l H&T A
3T 8 ?
101:72

What is the ratio of number of black shirts produced by units Q and U together to the number
of white shirts produced by units P and Q together ?
101:72
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Few (9. 9. 91 AW . 95) : FrAferftad STt 1 &9 & 9§ 3 i 6 I E |

H= feur o S § i StenT-stent feAt I dmeR, Wear it guer o ffda ST s sk
T % TR ) Fot T fomn T R |

e ; fffd ST & ) T % TR H pA T H I 3: 4 8 IR e SFH I @ H
eI s el GEAT 1 I 3 : 2 8 MW il S, & 3t T U1 & oAl h peA T BT I
4502 |

e ; Frftfa ST 1 % el o et wen ffifa 3 T % eIl <l el T ¥ 37.59% A @
3R ffHa & & U T o TR 1 ol FEA1 1 3 9 : 8 @ | FfHa STt T % R S Ha wE
ffifa & 1 o eIl Al ot wE@ F 40 U R

goar : fffa ST 1 % et B por g i ) 1 % T B pa T H 5/1197 9T 8
aur ffifa SR 3 3 1 o e ShY et HEA HAM: 150 31 240 © |

Direction (Q. No. 91 to Q. No. 95) : Read the following information carefully and answer the
questions.

The given below paragraphs shows the total number of purple, green and grey colour balloons
manufactured on three different days i.e. Monday, Tuesday and Wednesday.

Monday : The ratio of the total number of purple to green colour balloons manufactured is 3 : 4
and the ratio of the total number of purple to grey colour balloons manufactured is 3 : 2 and
the sum of the total number of purple, green and grey colour balloons manufactured is 450.

Tuesday : The total number of purple colour balloons manufactured is 37.5% more than the
total number of grey colour balloons manufactured and the ratio of the total number of green
to grey colour balloons manufactured is 9 : 8. The total number of purple colour balloons
manufactured is 40 more than the total number of green colour balloons manufactured.

Wednesday : The total number of purple colour balloons manufactured is 5/11" of the total
number of green colour balloons manufactured and the total number of purple and grey colour

balloons manufactured is 150 and 240 respectively.

91. | guar i HfHa & T % [eaRT I o T 1 AHAR HI Hifq ST T 6 TR H Fo g@n ¥
JTUTA AT T |
11:5
Find the ratio of the total number of green colour balloons manufactured on Wednesday to the
total number of purple colour balloons manufactured on Monday.
11:5

92. | guanr o fiffd B T T1 & TR H T divar Hi Ffa Fo1 @ W T T % TR A qE H
fepam wfewa & 2
80%
The total number of grey colour balloons manufactured on Wednesday is what percentage of
the total number of green and grey colour balloons manufactured on Monday ?
80%
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93. | Hiretar =l fAfifa $e1 el i @@ 3 dmar S Ffifa B 3 1 6 TRt i ge % " IR T
I |
460
Find the difference between the total number of balloons manufactured on Tuesday and the
total number of grey colour balloons manufactured on Monday.
460
94. | gfe rar @l Ffifd For eI H T@ FUAR H G@ F 25% HA 2 3R Tear w1 Ffifa o S,
B 3T U 1 o oA hl H&AT &I 3TIIG U 4 : 3 : 2 7, A1 TeaR i HiHd o S T % TR
1 TEAT |G HIT |
240
If the total number of balloons manufactured on Thursday is 25% less than that of on
Wednesday and the ratio of the total number of purple, green and grey colour balloons
manufactured on Thursday is 4 : 3 : 2 respectively, then find the total number of purple colour
balloons manufactured on Thursday.
240
95. | MR, HTIR 3R gUaR i Th T Ffdd 3 1 & e Y g 3ida g Frd i |
167
Find the approximate average number of grey colour balloons manufactured on Monday,
Tuesday and Wednesday together.
167
96. Choose the right answer from the five options given below to frame meaningful sentence.
the/steps/old/man/fell/the/down
The old man fell down the steps.
97. | Choose the opposite word (antonym) to the given word.
Remote
Near
98. | Fillin the blank with the correct option.
My brother very hard at the moment, because some of his colleagues are
off sick.
is working
Direction (Q. No. 99 and Q. No. 100) : Read the following passage and answer the
questions by choosing the right option.
The Journey of a River
Rivers begin their journey high in the mountains, where melting snow or rainwater gathers to
form small streams. These streams flow downhill, joining with others to become larger rivers.
As the river travels, it shapes the land around it, carving valleys and creating habitats for
many plants and animals.
Along the way, rivers provide water for people, animals and crops. Towns and cities often
develop near rivers because they offer a reliable water source and an easy way to transport
goods. However, rivers can also flood, especially after heavy rains, which can damage
homes and farms.
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Many rivers eventually flow into oceans or seas, completing their long journey. To protect
rivers, people must avoid polluting them with waste and chemicals. Keeping rivers clean helps
ensure they continue to support life and benefit future generations.

99. | What happens when many small streams come together ?
They form a larger river

100. | How can people help protect rivers ?
Avoid polluting them
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